Nucleic Acid Key
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11. Instead of the term “Formation of a nucleoside”, what could the name of the reaction be?  What functional group is being formed?
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12. What is the difference between “Uridine” and “Uridine 5’-monophosphate (UMP)”?  Can you see why UMP is named in that fashion?
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Yes, there is a 5’(3’ direction of DNA. The 5’ phosphate group is free. Additional nucleotides are attached by their phosphate groups to the 3’ hydroxyl group of the previous nucleotide. When there are no more nucleotides to be added, the 3’ hydroxyl is free.

[image: image11.emf]
[image: image12.emf]
[image: image13.emf]
21. Draw out the base pairs in your book and point out the hydrogen bonds that form between them.



See book
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25. Reactions require energy.  The reaction that adds a new nucleoside to a growing chain of DNA requires energy as well.  Where does this energy come from what is the name of the enzyme involved in this process?
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33. What is the sequence of amino acids coded by the following mRNA?  5’-GUAAACAGCUGA-3’
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